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����	"
���7	 (SI)	"��	 !�	��	��6���
"
���7	"��	
�	
��� �	"��	
����	��/�	(joule)

��	J �

�������8.13

�,��	 
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�
J100 ���	��-�4	
��.-
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����	��7	�,��
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�	�������	
�
� 8

��������
Ω= 4R

J100H =

s1t =

���6��	 �,��
����	 ��7	 �,��	 �:
�

������� 
����	V �	��<
�
/	
�@��&	 )20.8(

���
�
�
H = VIt = V2t / R

��				 t
HR

V2 = 
��/�12

		 4V =∴ 
��/�1	= 20
��/�1 �

�������8.14

�����&	 8.13
�	 �,��
���
�	 �,�����
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Ω= 4R

J100H =

s1t =

�������	
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�
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25I =∴
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 19. 
�O������	 ��1��	 ���	 ��>)@	 ���s


��.-/�
�
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5
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 20. 
��1�"	 Ω20 	 �,��
���	 �� �?	 
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�	 A5 �������	
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���� �
30s
�	
�
�	���	��-�4	
�� 8

8.7.1 	
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���������������<�����	
�	���
,
���-�+
(Practical Applications of Heating

Effect of Electric Current)
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,��	K����
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�7	 �,�����	 
�
/	 K����1�	 ���s	 
��7
��)�6�"	"�5	����.1�	��F��4	
��7	����&	�J�
��76�" �	
��
�/��	�)�	�S���	������	��71�	����
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�	K����	�����
�+�6�7.�" �	Y
��7	
J�,
�	 IA, 2A, 3A, 5A,

10A	�,�'��	�����4	����	K����	������	���6�7.�" �
�����&B���(	
��1�"	1kW	�������	7l@	220V

�������
�	��6��	�����	��7G	(1000W/220V)	��
4.54A	�������	�,���	��� ��	�
� �	
�&�	"��
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�	5A	K����1�"	
56�!	
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8.8 	
��
��� ���=���(Electric Power)
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�	��&��	
6	
6�G	���
�	��6��	���6�"
��	 
6�G	 ���
�	 !�	 ��$	���6�"	����	 ��#���
(Power)	 ���� �	 

7�)�	 
6�G	 ���
�	 �������
 !�	 ����.
�	 +C�	 ��"	 ����	 �������	 ��#���	 P

����6�" �	
�@��&	(8.19)	���
�
�
VIP =

#��Q	��$�	������	�
/

RIP 2 == 	 --------------------------(8.22)

�������	 ��#����	"
���7	"��	
����	 #��1�
(watt)	��	W �	�������	1V	#	�������	�,���	1A


�
/	��#���	
��	1W �	�.����(
1W = 1 
��/�1	× 1	"V�$��	= 1VA ------(8.23)


����&	������	��7G	#��1�	"��	���	
��

��.-����	"��H���	���	"�	�*3	"��	�.����	1
��
/�#��1�	(kilowatt)	��	1kW	������	���6�" �

1kW = 1000 W

�������	��#�����	
5P�	���
�
�	+C�	
��.-��
�������	 !�	Z	��#���	t	
�$ �	".-��	�������	 !��
"��	
��	#��1�	Y��	(Wh) �	1	#��1�	��#���	1	Y��
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�
/	1	#��1�	Y��	 !�	+C�	��" �	��
�
Y
�	������	���.-��	�������	 !���	��
/�#��1�	Y��
(kWh)	"��
�	���6�" �	1	��
/�#��1�	Y��	�������
 !���	1	$���1�	�������	 !�	
��/�	����6�" �
1 Wh = 1W × 1h = 1W × (60 × 60)s

= 3600Ws = 3600J

1 kWh = 1000 × 1Wh = 3.6 × 106Ws

= 3.6 × 106J
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�/��
�	 0.5A	 �������	 �,���	 
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/	 �/���

��#���	
�
� 8

��������
V220V =


�@��&	(8.19)	���
�
�
P = VI

   = 220V × 0.5A

   = 110 VA

   = 110W

�������8.16


��1�"	400W 
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�
�1�	�����	8Y��
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/ �	 �������	  �u	 6��	 kWh	 ����	 31Q�	 ��"

�
�	 30 ���	 ��7G	 
�
�	 1Q��	  �u	 
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30 ���
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�K,�
�
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�	��$��	
��.-��

�������	 !�
= 400 #��1�	t	8     				t	30 ���

= 96000 #��1�NY��

= 96 ��
/�#��1�NY��

= 96 kWh
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kWh96 × 1Q�

��� ��
21. �������	�,���	�����	�,���	 !��	���	
��G

����	��
�	�����	�
� 8
22. 
��1�"	�������	
��1��	220V	�������	/�7����

5A �������	 

,��	 ��" �	 
��1���	 ��#����

�
� 8	2 Y��
�	"��	
�
�	 !�	��$
���� 8

,?���
@9(��
� ������@	���
�	7
/��1,���	�,���	
�
/



.-
�	 �������	 

,��	 �,�����	 ��" �
7
/��1,���	 ����	 ����@�	 �����	 �������


,���	���	���6�" �

� Q �����&�	2���	 t 
�$	�:
�	�,�����


�
/	�������	

,��	
t
Q

I = �

� �������	

,���	SI "��	"V�$��	�
1 �
� ����.
�	 2�����	 ��� @)	 ���7��	 ��7G

�������	

/�	��	���
1�@	������	���6�" �


/�	��<�	��,��71�	�:
�	�������	
'?�
�
� �	 ��������	 SI "��	 
����

��/�1 �

� �,��
���	
����	������@�	"���	"�	��&
6���	 7
/��1,���	 �����	 ����	 ��" �
�,��
����	SI "��	
����	#��	�

� #��Q	 ��$�	 b	 �,��
����	 ������,�	 
T��
���.-��
�
)	 ��<�	 ��7�,��	 �:
�	 .-��
�������	

.-
�	�,�����	
��.-��	�������


,��	
�	
�������@ �

� ������@	����	�,��
���

A
R

�ρ=

ρ Z	������@�	�,��
���-��(	 =� ������@
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T
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t
W
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�	�0 C

1. +>�"	����	�,��
���	
����	R �	"��	�����	���1�	
���	���
�	���!	����/�	"�5	"��*3���

�����)	
5
6��	����/� �	"��	
5
6���	
���/�	�,��
���	RI	
�
/(	R / RI	
��

(a) 1/25 (b) 1/5

(c) 5 (d) 25

2. ��
�4�!	�����Q	�:��	
��G1�	�������	��#���	
�2��	���\ 8

(a) I2R (b) IR2

(c) �I (d) V2 / R

3. 220V #	100W	
/+�.-��	
��1�"	�/����	110V	/�7��
�	/��7
/	��#���	
��

(a) 100W (b) 75W

(c) 50W (d) 25W

4. "��	�S���	������	
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���	���
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5
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5
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(a) 1 : 2 (b) 2 : 1

(c) 1 : 4 (d) 4 : 1
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��/�1��1�	
�����	
5
6��	���6�" 8

6. +>�"	�e�	����	���
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I L"V�$�M 0.5 1.0 2.0 3.0 4.0
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